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% i B - IRk B B i & & i
E R 6,241,200 + 1,080, 157 7,321,357
EEAGE 6, 241, 200
EERE 1,080, 157
Z D HRTE 6,241,200 x 53.85% ( 35% + (1 — 35% ) ) 3, 360, 886
BRI 7,321,357 + 3,360, 886 10, 682, 243
—REEERE 10,682,243 x 53.85% (35% + (1 — 35%) ) — 4,630 5,747,751
e L 10,682, 243 + 5,747,757 16, 430, 000
HBEGEELE 16,430,000 x 10.00% 1,643,000
EBEEN 16, 430,000 + 1,643, 000 18,073, 000




BERRE MR SERERICHEIMMMITR S AN RRE RS

G 7 g - IRk B O B & # #E
BRI 7,321,357
FTE - F%E - SAEFES 7,321,357
BEHESAEEH 7,321,357
RITREBREES 6, 241, 200
RitEtE 415, 450
1 FHE#EfR 1.00 415, 450 415, 450
N
& - &E 3, 648, 000
2 MITRENEDORET 1.00 3, 648, 000 3, 648, 000
xS
ZERNDKRE - EE 1,068, 500
3 EELENMER 1.00 2175, 300 275, 300
8
4 ZERDEE 4.00 198, 300 793, 200
|
i - ;& 657, 900
5 EHTIHE 1.00 117, 400 117, 400
|
6 hEHmE 3.00 117, 400 352, 200
|
T ZR|E 1.00 188, 300 188, 300
=
R 451, 350
8 EBTHRIEEM AFRARRRET 1.00 451, 350 451, 350
N




RERNRE EBEHERITESMAMTR S N FRE T

E#ERE 1,080, 157

EBRARE 55, 833

9 EBAMRE 1.00 55, 833 55, 833
=

R 74, 000

10 £HER 1.00 74,000 74,000
=

ZE2RE 864, 000

11 ZE=EE 1.00 864, 000 864, 000
=

k& 86, 324

12 k& 1.00 86, 324 86, 324
=




RifR-FET/ Svr— HEAEBEECASIMMATRS N ERTER
E#5:1
%ﬁﬁ : ?I-Ei%{ﬁ ].‘T’—t% LJ
g2 [ R - K& BAGT = B f ® # W E 5 &
BEE
A 1.00 70, 900. 00 70, 900
EXE3:3: 164
A 1.50 62, 200. 00 93, 300
AR (A)
A 2.50 55, 200. 00 138, 000
AR (B)
A 2.50 45, 300. 00 113, 250
& it 1EZ£BEA - 1. 00K 415, 450. 00 415, 450
55 :2
A MITREXEROKEE 1KLY
% L R - K& Bif = B f ® # W E B &
HEnE
A 3.00 70, 900. 00 212,700
EXEETTTCH))
A 16.00 62, 200. 00 995, 200
HER (A)
A 17.00 55, 200. 00 938, 400
HER (B)
A 17.00 45, 300. 00 770, 100
HER (C)
A 17.00 35, 600. 00 605, 200
Hifrg
A 4.00 31, 600. 00 126, 400
& B 1EEBEA - 1. 00K 3, 648, 000. 00 , 648, 000




RER-FEI/ \vr—o HEAERFEBEICESIMMMTR SRR ER
H#E 3
27 RESEHRMER IEED)
% f] R - BIKTE BAf = LI i ® B E &5 &
EXETACH))
A 1.00 62, 200. 00 62, 200
FEf (A)
A 1.50 55, 200. 00 82, 800
FAf (B)
A 1.00 45, 300. 00 45, 300
FAf (C)
A 1.50 35, 600. 00 53, 400
Hittg
A 1.00 31, 600. 00 31, 600
& B {YE%8ERH : 1.00=X 275, 300. 00 275, 300
BE 4
2 REKDEE H=ED)
% b R - BRTiE BAfL = B ® # W E w =
EE2THEH))
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.00 55, 200. 00 55, 200
HEm (B)
A 1.00 45, 300. 00 45, 300
HEm (C)
A 1.00 35, 600. 00 35, 600
& it e84 - 1.00= 198, 300. 00 198, 300
&5 :5
275 BRihE HEED
% b R - BARTR BAfL = B f & # B E B %
EX: 2T HEH))
A 1.00 62, 200. 00 62, 200
A (A)
A 1.00 55, 200. 00 55, 200
& &t YE%8EH - 1.00= 117, 400. 00 117, 400




RER-FEI/ \vr—o MR AR EERCHESIMEMITREX RIREER
EHS 6
A PRERE 1EHY
% b R - K& By = B O{f ® # Hm E w =
EXETACH))
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55, 200
=1 it YEZHERD - 1.00[E 117, 400. 00 117, 400
&5 :1
& . RBR|E 1EHY
% L R - KT By = B O(f ® # wm E w =
HEnE
A 1.00 70, 900. 00 70, 900
EXEETTTCH))
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55, 200
& it YE%8EH - 1.00[E 188, 300. 00 188, 300
&5 :8
A EBEREEER AFARRRET 1KLY
% L R - KT By = B O(f £ B W E B %
F{EHAED (G&ED)
A 1.50 62, 200. 00 93, 300
HEm (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.50 45, 300. 00 113, 250
AR (C)
A 3.00 35, 600. 00 106, 800
& it 1EZEEA - 1.00K 451, 350. 00 451, 350
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&5 :0
% g & - AR By = B O * B = E %
EBEAME
= 1.00 55, 833. 00 55, 833
& it EEEEA - 1. 00K 55, 833. 00 55, 833
5 :10
B EBHRER IEED)
% g B - BIKSHE B H 8 B O * #B = B %
EBRRERE
= 1.00 74, 000. 00 74, 000
= it EEEES : 1.00K 74, 000. 00 74, 000
E5 1
2 FESKE 1X4Y
4 [ B - BIKSTE B H B B (@ ® & = ik %
EEFY
= 1.00 864, 000. 00 864, 000
= g 1E%EED - 1.00K 864, 000. 00 864, 000
=5 :12
&% RE 1X4Y
4 [ B - BIKSTE BAL H 2 B @ & & HE w %
%=1
= 1.00 86, 324. 00 86, 324
a8 g 1EXBES - 1. 00K 86, 324. 00 86, 324






